CNV_M1_HG19 18 36949447 36956192 CHS

B CN1 = CN2

Hegger —== e !-_—--lll_---
e T ———— e

HGO0689 _ mu— Hgggsgu

e Eﬂ-ll---l--—

o, S —
——
e AT
”63%23:6 —
F"_' &
2 =-—l -
_5|||

-

"0
=
Hé%ﬁﬁéa

o
5=
I — e
HG00533 H
— oo
{ HG00531
HG00593
ik

———

HG00596 I

U 0 o i == 1

———— i
— HGD&?—————: Eg@g

LR === TR T TR ——
— Y
II-—L HG00403 Hggsigg

L ———Jc
- Hegezd

Hegeses
Hees?

HG00530

e
HE00611

HG00475 —

——1 |

HGO058

HG00662 o mm

- e

Hegases

| 1 A
Hetess
==

n%%%%%? — p—r -
et ,———— T W L s =Hmﬂ§ 4
I 0T O A M e Fi3

HGO0577

nsaaz?s
—
i e | ] T K TN
j— fgflee &
e == L) [T R R

HGO0464 _ memmn !
—
HGO0610  ne— HE00608

S —— T T %88% e *-

SR ——
HG00443

g %2 ——— T T T -
AT T Ll
258532 M
g o

R
i
C ] N
i
S==Jnun
=
—m

Haoo422
N O e 11280655
GBDS]Z
e HG0065

HGUDS77 " resht
llIl— e E%ﬁ
e TR — @ Hees
HG00419
—I-II--€HGM e

HG00607 e

e
= Hegases
1 co0p — TCOOEES

%0

il 005% HG00449
ncmm

léﬂé&ggm

TR e

— HGO0634

A O S i 115991
I A o omm mmma mmmn  100532

——1
HEBtal —

HGO0042] e

I I I I I I I I I I I I
-100.0 -80.0 -60.0 -40.0 -20.0 0 0 20.0 40.0 60.0 80.0 100.0




